

$$r \rightarrow 0 \rightarrow r < r \rightarrow r \times r = -1 < 0 \rightarrow n^r + a \ln + b = 0^+$$

$$(n-r)^r = n^r \ln + b \rightarrow b = r \quad a = -r \quad a+b = 0$$

$$n = \frac{r}{\sqrt{r}} \rightarrow n^r + a \ln + b = 0^+ \quad (n - \frac{r}{\sqrt{r}})^r = n^r + a \ln + b$$

$$a = -r \sqrt{r} \quad b = \sqrt[3]{14} \quad \left[\frac{b}{a} \right] = \frac{\sqrt[3]{14}}{\sqrt{-14}} = -1$$

$$n \rightarrow \frac{1}{\sqrt{r}} \rightarrow \frac{\sqrt{r}}{r} \times n = \frac{\sqrt{r}}{r} \times \frac{1}{\sqrt{r}} = \frac{1}{r} \rightarrow \frac{a-1}{\frac{1}{r} + a} = -\infty$$

$$\downarrow \left[\frac{b}{a} \right] = \left[\frac{-1}{\frac{1}{r}} \right] = -1 \quad \left| \frac{1}{r} + a \right| + a$$

$$\textcircled{1} a < \frac{1}{r} \rightarrow \frac{a-1}{-\frac{1}{r} - a + a} = \frac{a-1}{-\frac{1}{r}} = -\infty \rightarrow \text{مخرج صفری نیست}$$

$$\textcircled{2} a > \frac{1}{r} \rightarrow \frac{a-1}{\frac{1}{r} + a} = -\infty \rightarrow \frac{1}{r} + a = 0^+ \rightarrow a = (-\frac{1}{r})^+ \rightarrow \left[\frac{b}{a} \right] = \left[\frac{-1}{-\frac{1}{r}} \right] = -1$$

$$n \rightarrow -\frac{1}{r} \rightarrow n^r < \frac{1}{r} \rightarrow \frac{1}{n^r} > r \rightarrow \frac{-r}{n^r} < -1 \rightarrow \left[\frac{-r}{n^r} \right] = -1$$

$$\downarrow \frac{r}{n^r} > 1^r \rightarrow \left[\frac{r}{n^r} \right] = 1^r$$

$$\lim_{n \rightarrow \infty} \frac{1 + \left[\frac{-r}{n^r} \right]}{\left[\frac{r}{n^r} \right]} = \frac{-1 + 1}{-1^r + 1^r} = \frac{0}{0^+} = \infty$$

$$\lim_{n \rightarrow \infty} \frac{n^r - r}{n^r - \left[\frac{r}{n^r} \right]} = \frac{r}{r} = \frac{r}{1^r} = \frac{1}{r}$$

$$\lim_{n \rightarrow -\infty} \frac{n^r + a \ln + b}{1 + 4 \sqrt[n]{n}} = \frac{r n + 10}{1 + 4 \sqrt[n]{n}} = \frac{-4}{1} = -4 \quad \text{or} \quad \frac{1}{4 \times \frac{1}{1^r}} = \frac{1}{4}$$

$$\lim_{n \rightarrow 0^+} \frac{\sqrt{r+n} - \sqrt{r-n}}{\sqrt{1-\cos n}} \times \frac{\sqrt{1+\cos n}}{\sqrt{1+\cos n}} \times \frac{\sqrt{r+n} + \sqrt{r-n}}{\sqrt{r+n} + \sqrt{r-n}}$$

$$= \frac{(r+n) - (r-n)}{(1-\cos n)(1+\cos n)} \times \frac{\sqrt{1+\cos n}}{\sqrt{r+n} + \sqrt{r-n}} = \frac{-2n}{1-\cos^2 n} \times \frac{\sqrt{1+\cos n}}{\sqrt{r+n} + \sqrt{r-n}} = -1$$

$$\text{L'Hôpital} \rightarrow \frac{(1-\cos^2 n)}{(1-\cos^2 n)} \times \frac{\sqrt{1+\cos n}}{\sqrt{r+n} + \sqrt{r-n}} = \frac{1}{1} \times \frac{\sqrt{1+\cos n}}{\sqrt{r+n} + \sqrt{r-n}} = -1$$

$$= \sqrt{\sin^2 n} = |\sin n| = -\sin n = -n$$

$$\cos n \sim 1 - \frac{n^2}{2} \quad \cos \sqrt{n} \sim 1 - \frac{(\sqrt{n})^2}{2}$$

$$\lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{n})}{Kn^2} = \frac{K + 1 - \frac{(\sqrt{n})^2}{2}}{Kn^2} = \frac{K + 1 - \frac{n}{2}}{Kn^2} \rightarrow K + 1 = 0 \Rightarrow K = -1$$

$$\rightarrow \frac{-\frac{n}{2}}{Kn^2} = \frac{-1}{2K} = \frac{1}{4} \Rightarrow K = -4 \quad \frac{1}{K} = -4$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{n-4a} + \sqrt{n} - \sqrt{4a}}{\sqrt{n^2-4a^2}} = \lim_{n \rightarrow \infty} \frac{\sqrt{n-4a}}{\sqrt{n^2-4a^2}} + \frac{\sqrt{n} - \sqrt{4a}}{\sqrt{n^2-4a^2}} = 0$$

$$= \frac{\sqrt{n-4a}}{\sqrt{n-4a} \sqrt{n+4a}} + \frac{\sqrt{n} - \sqrt{4a}}{\sqrt{n-4a} \sqrt{n+4a}} \times \frac{\sqrt{n} + \sqrt{4a}}{\sqrt{n} + \sqrt{4a}} = \frac{1}{\sqrt{n+4a}} + \frac{(\sqrt{n} - \sqrt{4a})(\sqrt{n} + \sqrt{4a})}{\sqrt{n-4a} \sqrt{n+4a} (\sqrt{n} + \sqrt{4a})}$$

$$= \frac{1}{\sqrt{n+4a}} + \frac{(\sqrt{n-4a})(\sqrt{n} + \sqrt{4a})}{\sqrt{n-4a} \sqrt{n+4a} (\sqrt{n} + \sqrt{4a})} = \frac{1}{\sqrt{4a}} + 0 = \frac{1}{\sqrt{4a}}$$

$$\lim_{n \rightarrow -1^+} \frac{1+K}{n^2-1} = \frac{1+K}{0^-} = -\infty \rightarrow 1+K > 0 \Rightarrow K > -1$$

$$\lim_{n \rightarrow -1} \frac{1-K[n]}{n^2-1}$$

$$\lim_{n \rightarrow -1^-} \frac{1+K}{n^2-1} = \frac{1+K}{0^+} = -\infty \rightarrow 1+K < 0 \Rightarrow K < -1$$

$$K < -1$$

$$\rightarrow -1 < K < -\frac{1}{2} \rightarrow -2 < K < -\frac{1}{2}$$

